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DECEMBER 2c/21 (INSEM+ ENDSEM) EXAM

F.Y. B. TECH. (SEMESTER - r)

COURSE NAME: PYTHON FOR ENGINEERS

COURSE CODE: [CS LO2O2B|

(PATTERN 2O2Ol

Time: [2Hr]

(*) Instructions to candidates:
U Figures to the right indicate full marks'
2l Use of scientific calculator is allowed
3) Use suitable data where ever required

Q.1 Solve the following

i) What is the output of the following string comparison
print("John" > "Jhon")
print("Emma" < "Emm")
a) True b) False

False False
c) True d) False

True True
What will be the output of the following $rthon code?

a=l7L ,4 ,16,67 ,88 ,21 ,91

a. sort(reverse=True)
print(a)
a)[4,9, 11, 16, 2t,67,SSl b)[11,4, t6,67,88,2L'91
c)[88, 67, 21, 16, ll, g, 4l d)[9, 88, 67, \6,27, tl,4l
What will be the output of the following Python code?

a=[1 1,33,55,[771]
b=1ist(a)

a[3][o]=ee
a[1]=34
print(b)
a)[11,33,55, [99]l b) [11,34,55, [99]l c)[11,33, 55'177]l

What is the output of the following code ,-r
print(boo1(0), bool(3. 14159), bool(-3), bool(1.0+1j))

u1fto" True False True b)False True True True ;
c)True False False True d)False True False True

What is the output of the following code

T1 = (1, 2,3,4,5,6,7,8)
print(T1[-1 :-5:-2])
print(Tl[ :7:21\

a) (8, 6) c) (8, 6)

(3, 5, 7) (1, 3, 5, 7)
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b) (8, 6) d) (8, 6,4)

(1,3, 5) (1,3, 5)

What is the output of the following code

Tl = (23,32, 4, 5,2, L2,23,7,9, 1O,23)

print(Tl [T1.count(23) + len(Tl) -5])

print(T1.count(T1 [6]))
a) 10 c) 10

13
b) 11 d\23

31
What is the output of the following set operation'

*"11 = {'Yellow", "Orange", "Black"}

set2 = {"Orange", "Blue", "Pink"}

setl.update(set2)
print(set1)
a) {'Ye1low', 'Black'} b) }rpeError c) {Yellow" 'Orange'' 'Black'' 'Blue" 'Pink" 'Orange'}

d) {Orange','Black','Pink','Blue','Yellow'}
Select the correct option to display : ViiT is Best! 'in the output

R=[{Pune':"VIIT","Course";'fython for Engineers'},

["Best!",5,["WELCOME","wow!","is"]]l
a)prin(Rtol["rune"],n[t][2]t-1l,RI1ltol) b)print(R[1]["Pune"]'R[1][2]t-11'Rtlltil)

cj print@trjt"Course"f,R[1] t2lt- il,R[1][1]) d) none of the mentioned

What will be the output of the following Python code?

i= 1

while True:
if i%9 := 0:

break
print(i,end=" ")

i+:2
a)l 357 b)13579 c) error d) noneofthementioned
What will be the output of the following $thon code?

if False:
print("India")

elif True:
print("Pune is Best CitY!')

elif True:
print("I like BMW")

else:
print("See You Soon..")

a) india b) I like BMW c) Pune is Best Cityl d)See you Soon"

What will be the output of the following Python code?

while i < 5:

Print(i,end=" "1

1+= I
ifi==3:

break
else:

print(0)
a)012 b)01234 c)error d)0123
What will be the output of the following Python code? '1'r

for num in range(10, 14): L

for i in range(2, num):
if num%i == 1:

print(num,end=" ")

break
a) 11 13 b) None of the mentioned c) error d) 10 11 12 13

What will be the output of the following lython code?

def writer$:
title = 'Sir'
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name = (lambdax:title + " + x)

return name
who = writerO
who('Shree')
a)Shree Sir b) Sir Shree c) Shree d) None of the menti'oned

What will be the output of the following ffthon code?

min = (lambda x, Y: x if x < Y else Y)

min(101*99, 102*98)
a) 9999 bl gggT c) 9996 d) None of the mentioned

What will be the output of the following Python code?

modl and mod2 modules are imported in main file'

#mod1.pY
def change(a):

b=[x*2 for x in a]

print(b)
#mod2.py
def changel (a):

5=[x*x for x in a]

print(b)
#main.py
from modl imPort change

from mod2 imPort changel
s=[1,2,3]
changel(s)
all2, +, O4 b) [1, 4, 6] c) [1, a, 9] d) None of the mentioned

Q.2 Solve any three out of four

a) Define NumPY?
Followingistheprovid.edNumPyarray'Returnarrayofitemsbytakingthe
third column from all rows.

samA= numpy.arrav (llt t,22, 331, 144, 55, 661' [77' BB' 99]l)

Printing InPut ArraY

samA= llrr 22 331

[44 ss 66]

177 88 eell
Expected output: Printing array of items of the third column from al1 rows

[33 66 ee]

Consider three arraYs as below

A= [ [10,20,30] t 171t22,33))
B = tt66l, t1lll
c: t t10,251 , [5,10] l

Write a python code to perform (A+B) and (A+C)

Justify 1-a*e1 "t 
a (A+C) Output with the help of broadcasting rules

WriteaNumPyprogramtogetthefollowingexpectedoutputofarrayvalueselement-
wise.

arrT=11O,12,16,241
arr2=12,4,8,91

Expected OutPut:
A= ls322l
B= [00061

Describe subplot? write a python cod,e to get sin, cosine and tan signal waves over the

period (0,5*pi,0. 1) using subPlot.
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Q.3 Solve any three out of four

Considerfollowinglinesforthelllepunecity.txt'Writeafunctioncount-1ines()
to count and display the total number of lines from the file'

'f,i*.; also called poona, est Maharashtra state, at he junction of the Mura and Mutha

rivers. Called "Queen of the Deccan"'-p""" 
i" the culiural capital of the Maratha peoples'

The city first gained il;;;i;"; as the capiial of th" Bho".1e Marathas in the 17th

century.

Explainindetailthemodesusedintextfileforthefollowingoperationswiththe
symbois .

a) Read OnlY c)Write onlY

bi Read and Write d) Write and Read

Differentiate between write and append mode?

Considerfollowinglinesforthefileengtest'txtandpredicttheoutput:
Input:

l.Apersonwhomanufacturesordesignsanymachines,devices,software,etc.
is called an engineer'

2.Thereare*.,ytyp."ofengineers,whichallhavedifferentfields.
3. There are + ma.ioi types of Engineers, civil Engineer, Electrical Engineer,

Mechanical Engineer, and Computer Engineer'

4. Engineering is ihe most preferred career option all over the world.

a)

b)

isl

tsl
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f = open("engtest.txt",'w')

f = open("engtest'txt")

I = f.readline0

print(1)

f.seek(9)

print(f.te110)

12 = f.readline(l0)
print(12)

print(f.readline0)

ch3=f.read(15)

print(ch3)

f.close0
write a Python program to read a given .Lxt fi1e and count total number of 'Python'

word. in the given file, irnd total words and totai lines in the fiie'

Input:
sthonisaninterpreted,object-oriented,high.levelprogramminglanguagewith
dynamic semantics'
Its high-level built in data structures, combined. with dynamic typing and dynamic

binding,makeitveryattfactiveforRapidApplicationDeveiopment,asweliasfor
useaSascriptingorgluelanguagetoconnectexistingcomponentstogether.
Python's simple, easy to learn syntax emphasizes readability nance'

Python supports modules and packages, which encofiages program modularity

and code reuse. :
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